Component 7/Unit 6

Activity Key
This activity is an illustration of HIT facilitated error and was specifically crafted to provide the student with an experience similar to what a user experiences when HIT does not provide some common sense safeguards to reduce the chance of HIT facilitated errors.  In this exercise, the student plays in the role of the clinician.
Answer: SCENARIO

The clinician has had a very busy and harried day, and is sitting, after hours, trying to catch up with documentation.  The clinician is very tired and overloaded.  What the clinician does not notice (and most students may not either) is that there are two patients named Sixtyfive, Patient in the pick list and they both have the same birthdate.  The only difference is that one is a male and one is a female.  The male patient is the first in the list.
The clinician will most likely choose the first patient in the list, which happens to be Sixtyfive, Patient who is a MALE.  The clinician did not exam the male Patient Sixtyfive, the clinician examined the FEMALE Patient Sixtyfive and performed testing unique to a female.  The clinician proceeds to enter a hefty amount of data about the visit, enters a new problem, orders a new consult, documents the presence of a prolapsed uterus, etc.  Then to complete, the clinician (student)  generates a report that will be sent to the consultant to provide some information about Patient Sixtyfive.  The report is generated and the clinician (student) is asked to examine it.  In this report generated from the reports tab, students are asked to highlight the report data specifically for demographics, all problems, brief lab orders, and the progress notes for the gyn exam that was completed earlier in the day.  
At this point (if not earlier) it should become very obvious to the student that the wrong patient was chosen and that the data entry has occurred on the wrong patient.  The demographics show that the patient is a male, is being treated for prostatitis, has been screened for a male genetic disorder, and has results for several PSA (prostate specific antigen) tests.  The progress note and the problem list however show a prolapsed uterus.  The long and the short of this is that this is NOT A USER ERROR.  This is a system design issue!

In the analysis of the error (the write up that students must submit), students should highlight some of the following as a root of the error:

1. Listing two patients side by side, with the same birthdates and no very obvious way to distinguish between the two  is an error waiting to happen .  Potential solution:  use middle initials or find a way to demarcate/distinguish, etc.  
2. There is no obvious display of gender for the patient on each screen – I had to really dig to find out what gender the patient was.  Potential solution:  gender should be part of the permanent tool bar display at the top – maybe next to the birthday and name?.
3. It seems odd that a system this mature would allow a person to order incompatible tests.  A female patient should not be able to have prostatitis recorded as a problem on her record, just as a man cannot have a prolapsed uterus.  Potential solution:  set up rules in the system that prevents people from accidentally ordering tests that are incompatible.  There are drug alerts that prevent me from ordering a medication the patient is allergic to, so why not a gender based rule?

These are the most obvious answers that students may come up with.  Extra credit may be warranted for creative (but plausible) solutions or other areas for critique that may not be as overt as 1-3 above.  
It may also be that a student happens to note from the beginning that there are two patients with the same name and different gender and either contacts the instructor for clarification or chooses the female patient at the beginning.  The point & the lesson however are still the same.  The student may be one in 30 who catches it – but in a busy clinical environment, where the days are long and the stress high – this is a design that must be improved.   It is simply too risky.  If an instructor has a student who figures it out early on, the deliverable should still be the same.  The clever student may just save themselves some work in the data entry piece – but they should still complete the analysis, the critique and offer the suggestions for improvement.
Objectives:

Explain the concept of facilitated error in HIT

Cite examples of situations where HIT systems could increase the potential for user error
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